
Lösungen für Kapitel 1 
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Keller leeri/init()

Keller voll

gefüllter Keller

p [ Anzahl < Maximum –1]/push()

p/push(...)

p[ Anzahl = Maximum –1]/push()

po[ Anzahl > 1]/pop()t/top()

t/top()

po/pop()

po[ Anzahl = 1]/pop()

Keller leerinit()

Keller voll

gefüllter Keller

push(...) [ Anzahl < Maximum –1]

push(...)

push(...) [ Anzahl = Maximum –1]

pop() [ Anzahl > 1]top()

top()

pop()

pop() [ Anzahl = 1]

Keller leer/init()

Keller voll

gefüllter Keller

[ Anzahl < Maximum –1]/push()

/push(...)

[ Anzahl = Maximum –1]/push()

[ Anzahl > 1]/pop()/top()

/top()

/pop()

[ Anzahl = 1]/pop()
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2.23 http://de.wikipedia.org/wiki/Stapelspeicher 
 
2.24 http://de.wikipedia.org/wiki/Automat_%28Informatik%29 
 
2.25 Zustand Z22 
 
2.26 (Z12, Z22, Z32) 
 
2.27 (Z11, Z21, Z32) 
 
2,28 (Z11, Z22, Z31) 
 
2.29 (Z12, Z22, Z31) 
 
2.30 (Z12, Z21, Z31) 
 
 
 
 
 
 
 
 
 
 

Schlange leer/init()

Schlange voll

Gefüllte Schlange

[ Anzahl < Maximum –1]/insert()

/insert(...)

[ Anzahl = Maximum –1]/insert()

[ Anzahl > 1]/remove()/first()

/first()

/remove()

[ Anzahl = 1]/remove()


